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 Quiz 8 
(no calculators allowed, you may use the transform tables) 

 
1) If  ( 3( ) 2x t t )δ −= , then ( )X ω  is 
  
a)  2 (    b) 3)u t − 2 ( 3)u ω −    c) 32 je ω    d) 32 je ω−

   e) none of these 
 
 
 
 
 

2) If ( )
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 , then ( )x t  is 

  
a)     b)    c) 2 ( )tte u t− 22 (te u t−− ) )22 ( ) (te u t tδ−− +   d) 

22 (te )tδ−−   e) none of these 
 
 
 
 
 
3) If  

22( ) 3 tx t e−= , then ( )X ω  is 
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4) If  ( ) sinc
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⎟ , then ( )x t  is  
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5) If  2 3 9)
2

( sinc tx t −⎛
⎜
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= ⎞
⎟ , then ( )X ω  is 
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je ω ω
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6) If c( ) sin TX ωω
π

⎛= ⎜
⎝ ⎠

⎞
⎟ , the first nulls (zero points) are at 

 

a) 1ω = ±   b) 
T
πω = ±      c) 0ω =       d)  Tω

π
= ±       e) none of these 

 
 
 
 
 
7) If ( ) cos(2 )x t A t= , )(X ω  will be nonzero  
 
a) for all ω    b) for all 2kω = , k  an integer  c)  for 2ω =  only  d)  for 2ω = ±  
 
 
 
 
 


